A 108

18 () 28 (K) 3H (XK) 48 (&)
R % B4 —A&Y | #zs BRf —A&Y | |#zs BRf —A&Y | |#xz BRf —A#HY
EXRRE EXRRE EXRRE ERNE
EICTEEEL) 65 | [HE*k(F5) 60| ¥ |HEX(ER) 59| |ZE  [BEX(FEH) 60
5 [#efex 05 |5 [HEX(EH) 0| ¥ [kHE Bk 6| |5 |[HEX(E® 70
T |am 3| | [xuz 2w of |5 [smalx os| % [xmz zm 6
HLER 0.8 KuE FH e (B B-EHELA X 1) 9 XhiE RiT 7
& BEEE 10f (4 E OB b B (1 X 1om) 6] |4
7 |[LBE¥E 8| |12L [&#EL 26| |5 [BRESHE 1 12 [4EL 206
Bt 0.8 7 | R—av(Em) 5
& HET 1l 1A [ EEzU 30| |~ |EE 10| [T |msemmo-mrzan 47
; A2 10 g BB 15| | (A2 0] 7 [&E 15
R ZES (SEAE- S EAFINED) 8 o 2fE 70 {)\ CRTEHE ke 5 0'5) BiE 0.1
4 | WIUE=R 5 |5 |EE 35| |2 Al 02f |p |TASRA 6
o |[EBREEGELA) 08 (5 [rookEGR—L) 15 Y55 1 A |Blztail 4
H  [FLLLEFRSAR) 08| | |AB 10 | [/33— 05| [ [F¥RY 20
F | ragE 25| |7 |[E—=> 3| [ |FEravys 05| |* |EH 15
L [59<hLlem 2| |V [kh#E 3 BiE e 5
~ biepii] 2 |j FLLWE (RS/R) 0.7 {’iﬁ cL&d 0.03 'g_f LHL 5
z &= 05/ | A (ff)h—I)La—> 3
5 |&E 206| (& |IAl=< 02| |» |%4E 206 e 03
¥ CFH |4 B |Y35H 0.3
5 EOFNL(RFTRAESBH) N 40| [ ()RR FryT ke 15| |5 (45) BHENEE S (1. Sem) 40| |E T AF 25
1= EOFENE(RIARESBM) th 50| |E () HHR—T 1keg 3| % AS 5| |72 HHZ 1.5
T |[msol o 1| 2 [Ledw 25| |, [dER—na— s| |~ [tam 15
XX 14 Z ey 15 | [E)ZIR—X 8 |3 |[#Y4 15
y |Efchid 5 FELAVYA 04| | LsdSWp 15
»n |BE 01| = |egeyr—raskam 15 TARA 0.2
L |mzszEcons) 7| [z |EHRE 01| | (A EVAIFAT ke 15 Lt 12
& [(LRMSTHIR1ke 20| |Y [TARA IRCEES 25
Ao ER 20 T 8 30| [ [FrxRy 20 g 5
T s 6| | AETTEEEES 5 kS 25
SLHA 5 |, |&®L 30| [ |&8Y 2 KR 15
L [BRE 5 [k [Ew3Y 30 AS:d)) 0.5 E:d 15
& [L&5W 0.8 AB 5| (7 | M35 1 AS 5
5 (&l 0.3 (B #EABELYL LY 10| [ [@®»eR—F ke 4 i 5
Wy rLE 4 | [Lesw 05 HYA 05
= |HLE 05 nzY 5| |7 &k 04 L&SK 05
S 125 7—EE(Pu2E) 4 |J ZL&S 0.03 BiE 0.5
LB 1 ¢ [FErIIA 0.3 HIYET LA 4
L&SWE 8 L&KW 03| |y |i& 110 HLEfR 1
FHYA 1| |1 7K 120
K 1 (B)IL—AY—tY— B 40




A 108

7H(A) 8H (K 9H (K) 108 (K) 118 (£)
s Bad —A&Y | |#zs Bnd —AHY | |mus Bmb —A&Y | |#zsa Bmdb —A&Y | |#os Bmdb — A%y
EXRA=E EXRR=E EXRR=E EXKS=E EXKS=E
Q] R/ 30 (X [#BEXEH) 60| [ [@®Ex@E®) 60| [E [@E%EH) 0| 5 [EvAiE) 50
::T =D AYAY 40 Et *%Eik(%é_%) 70 ; BEX(ER 70 (} *%EI%I&(%E_?:) 70 : R/ GhEY) 60
> o |xEE =R of | [k 05| | o [R#E Fi 6| 7%
~ |HE 206 Rz Fit 1| [EoEutems) RE 33 Rtz FiE 7 s, [HEL 206
% S - [BE 1.6 |4
| REFL0N—T) 35| (3L |43 206 |1z |BIE 08| (3L |43 206 |4 |mivies romssseas /N 60
W TiE 1.5 A [BYEZE 0.7 R R T re— F 80
+ o lmm messoxim 12| [ [rsmos soxomn xo1m 30 = 03| |V |mm m-esLexe 30 E 8
7. B b EELA X Ton) 8 IIJ Cohilrg 80 ﬂz Z BA HL-BEL(2X2) 20 {\ TYLE(1x3x0. 3om) 5
= |BE 1|5 [EZ 50| [T |43 208 |7 [£2 03| [ [LoL 5
A = DA€ 1)) 12| g [PESAITRL 25| |5 L |EE 0 |&= 03
Z |EE 40| & | A 10| |#=  |meit(sx3mz542) 3B| [+ |TARA 5| |4 [I2AI< 0.1
A (A 10[ |C  [ewavuatas s500e 5| [l (&= 15| [F [X#% 25| |&  [US5H 0.8
N |ZDERG 8| |*®  |¥SFil 1 1E  [Eery 35| [~ [Aattaid 5 | [@rzrsrFesd ke 11
lz- TUE(1x3%0. 3em) 8 o L&S5KP 4 ?j E# 30 U= 3 1 \: (%) FThE1—L 1kg 6
7 |Lec 8 EB‘ EE i 5 [rz o] 1T [izai< o5 |7 [228=v=2 12
E—<> 5 | [P 3 |\ [ FEZeH4 10 [ |@rerrzrys ik 15| [z |#YA 0.7
e I2Alz 05| |&= |&E 01| | [H35iHh 1| |ZEHE 2| ;| LEI%E 0.7
I BS54 ANEF 5| [ [L&SW 3| [ [L&sSW L[5 [ 5] 1) 05
Vo |ERESE 1] |® " | EE 1117 |#YA 06 7k 7
A [T 1 FrAY 30 e 1% |#&az 06| |@
Y [FEoasux 0.6 %& IMNAZE 25 ‘7%* " HY A 05/ |, + AF v 0.1 ; (®)Fovay— EE ke 25
,} &5 03| |5 |[AB 10| | 5 K 2| |7 eTHE 05
cL&d 004] [z |@eenosrLysy 10| |4 |[EE 30 |x o
[} (B HHDY 0. 3g 0.3 +  [HEd 5| & |BPL 30| |12 [R—ar(Ga) 7
A 5 LTEEYDHA 4 A FEVDSIES 10| (R IMNAE 25| [V E& 30
i 15| |V [&E 1| |t [oEcaize< o | Az 5 |1 [emoy—sa—y 20
o8 Tova— EE 1 20| |® [HRUBEE 1 AS 1117 |[saoy i Copig 20
=Y 20 éu) =t 1.2 LM (RSAR) R The 5 (B) EF LLEL YUY 10 :II AS 10
A5 % WYBAIE 0.4 fhE 5 . |UER—a—Y 5
(B RS EE Ly Ly 8| |= Ha#% 55 RULR /NS (B B 5/ [ [23tY 0.5
BE FHZ 5 & 25( |y |USFh 0.5
YA 40| | & CEH 0.1 AB 8| |1 [@wrnz—7F 1ke 4
EFL LA 4 %R (8~ 10¢cm) 5| (& &k 05
7k 110 hh® 5 ;I( LS 0.03
Y54 H 03| |5 [FERyALYA 0.4
) MBR—T 1ke 4 aA—VRE—F 1.2
L&5K 05 SRR 20
BiE 0.4 7K 75
FELaLYA 0.3
L&D 0.03
CFEim 0.07
> 135




158 () 168 (K) 17H (K) 188 (£)
R % B4 —A&Y | #zs BRf —A&Y | |#zs BRf —A&Y | |#xz BRf —A#HY
E%RRE EXRRE ERRE ERNE
v [EAEXER) 59| A |[@wwoes suzos /M-8 200] |[/N [#EER(EFD) 60| X [&d/ 50
L [xmE B 6| |2 [wmwesen sncos| [na-6 280 [V [HEX(ER) 70| (R |2ty < 60
S |wsslx 05| € [amesen smeos 00 |2 [xHE B 6 *;j fit-taih 4
[  |EBEx2mRIAR) 13 £ (3 X 20mRSAR) 25| | [KHE R 7 |15 BRI K 45
A LmiET 5 |4 [BH# 1| |z N | =R 3
~ A 5[ 3L [E&E 30| |~ |£HEBx3mRIIR) 25| | |#EFIFX 1
£ |oEialecin=o) 5 AZ 10 |E  [Ceniry 50
A loEse ke 5/ [ [k R CEET: 45| |+ [£3 206
Y [eucs | [F [z o3| |F Az 0] [
HS5 M 08| i3 [L&SW 45| | |zuz®axaxo sm 6 g DAEAD 30
A (OF S5 ) 3 v [#YA 3 () TIVE—R 5 |4 |EE 40
gz, [EB 2| |y | LB 2| |4 [I2Alz< 03| |A |BE 35
N =] 1| (2 |&# IRE N Ey: 1 [ | AZ 15
no g 03| @ [&% 04 INEW 5| |& [Fusvyda 15
~ B &FL LA 5| [V [o54m 4 (B [m@E&sHS5m) 4
=] 206 ;} X 150 2 (O hehEaL ke 15 éf AE 05
D ,f o |[EOEILKE Tke 10] |z |F35H 1
= |TASS 12 43 206| 4, [@®HBR—T ke 3 |1 (BHBR—TF ke 4
A EWZIES 25( [ B | BSESHE 2| |7 |BA& 1
(03 NATA LS ES5mm) 15| | & B BBV ENRE 30| |2 HRA—Y—R 2 BiE 0.35
5 [maeusiia soos 5| |BF  |fat-taih o ¥ Bk 09| [ [FEravyA 0.4
. (#0) b (hok) EE-200g 1 q’ Bif 01f |- iA=L 0.5 ; L&5K 0.3
;; CEH 2| |* S [FEravus 05| T [SL&> 0.03
A L& 25 L 35| |, |2BLE 015| | [Tl 0.2
o |[#YA 1 ForHA 2| [=w |SL&S 0.07] |1 > 80
T | 038 AS 10[ |+ o—yzxT 01| |X
£ L 2 L&SK 1.2 E¥RF—X 3| [P (LR ESCHME 10
L [pyacE 1 aEE 1 % 80| ¥ [rar—xummesn 5
i+ FEE 1 AN ER 30
NREE: 30 RUEE 05 43 206 =Y 10
3y A 10 WYBECE 1 A 5
X |hhFE 5 RULRNL GE) B 5 (BD)ULE 1.2
B [FLLLEFRSAR) 1 FrRY 30 BEE 3
BEE %A 1 oY 10 L&5W 1.5
LS 1 AS 7 Y54 1
Bif 0.5 ({F) k—La—> 5 iA=L 0.6
BIYET ZLH 4 (B2) A A&+ Bfn 0.5 ZL&S 0.02
HLEHR 1 BEE 3
& 135 Y543 2
L&5K 2
(@) WHX1E 30 iA=L 0.5
ZL&d 0.02
EHOE ke 0.8
I=hh 30




218 (A) 228 (K) 23H (k) 24H (K) 258 (&)
s Bad —A&Y | |#zsa Bndb —AHY | |mas Bmb —A&Y | |#zsa Bmdb —A&Y | |#rs Bmdb — A%y
ERSE ERSE EKSE EKSE EXSE
Z ([BEXER) 12| | |[BEXER) 60| |[h [BEEXER) 59| (2 [awx/So 50/ |7 |[BBEX(ER) 60
I [BEXER) 80| | |EBEX(EH) 700 |IL [ KEE B 6] [v [FuR/Ry 60| | |BBEXER) 70
A (BEERIER 05| |13 [REE 7 6| |1 [&3&iEk 05| |~ E [REE EE 6
A [RKEE FH 7| (B [oomm m-gsiaxim 9| (/% |&EL 206| |A  [KHiZE FE 7
& 43| 206 > GRBA 5 EALG X 1om) 6| [> A
2 e 206 |7 |AXNESHE 1 B M- B7L (2 x 20m) 12| |Y  [BAkGEx3mz512) 20
WA B EAL (2% Tom) 12| (3L ~  |[R=ar(EMm 5[ [  |me tt-muLexam 8| |~ H£= 2
Z [mm tt-msLexim 8 (B IAEDTHTE 40| (EO(EE 15| |3l BAESHE 1 | [BE 1
S5 |[EBIH 20| | & B ZAEDTHTE 60| (A |zurxdxz2xo.3m 5 () BVAFATR—Zb 10| | [ewEmusa xam) 10
P (BEBEE M a0) 17] |A Y [T ERE ke 51 (A [EE 35| Ik [BE 1
g |EE 30| [F [F¥Y 30| [« [H35H 08| [IZ [wnrEse@x2m) 25| (A [(LM)SFHBR1ke 25
5 |AB 10| (o [/ 20 RA—Y—X 1| |5 [Lehrd 20| |~ [EZE 35
A (A) &PV AIFA 500g 7| | AS 10| |4 [AL—% 08| | ANS 10 EES 30
D [FLLLEFERSAR) 1| 137 [ByalE 1] (Bl [FEraryA 05| [ |TULFE 10| |4 |[HookEck—L) 15
= [L&SR 3| |&  [Le5KR 3 BiE 055| |¥ [/3&Y 05| B |AB 15
ES 25| |2 [RUBE 1l 1= [2L&S 003| |F [H3%&H 1 i 5
Z |BE 01| |& h 1 [EH 35| (K [¥35H 1
& | BHA 0.5 A REAYD< 25| |@ &L 206 | | Y54 2| [ |@HrS5R—TF 1kg 3
C [BIVES 7LH A ES 15| |[= INE— 1] Ly [LESKR 1.7
= 50| |& =E3 10| [ [(LR)ESAHHE 10| (A (B MDR—F 1kg a 15 [FExraovA 0.4
& » |AB 5/ |5 [FxRY 25| |5 |FExravvA 0.5 BiE 0.4
Z |BPL 30| [ [PhFE 5/ |4 [ZEp3Y 15| |7 (& 04| |81 [SL&LS 0.04
3 [Ew3Y 20 53<ELLESH 2 AS 51 ()b [SL&S 004| |Y [TASA 1
D |AS 10 |48 [L&5KW 1] (L |[xHE=CTI) 51 | |B—yzx 01| [IX [ZFh 0.5
L&SW 25| [ |BE 1] (2 |BEE 3| |57 [FAERAZEEL 30| (L [&B 50
% |BEF 15 (A [#YA 05| |2 [EB# 15 (% [|& 65| | KX
® (kA% 15| [Y BIYET LA 4| |0 (S5 H 1.2 i) 206
< [CFH 03| [2 HLE®H 1l | |&E 0.35| | A\ |mmEszEcoone) 5/ (@
7 <K 125] | | ZL&S 0.03] |£€ [FrRY 25| [ [EoFL Nt (2emA) 50
1 |EDHEIT1~ 25| |42 7 5 |Ew3Y 20| |5 |Efzteid 4
> 1) RULR L GEH) B3 51 | € | AZ 7 [%  |=ZEE 4
cl 3 (B BEVATFAT tke 10[ |U Y 5 HS545 1
* [ LAX 20] | | BF 1.8 B 0.8
L AES 20 =17 14 7K 1.2
e L AS 10 (A)LEVRH BE-500g 1.2 JOVI=1=F3 1.2
~ +01) 2 FU—Jih 1
. Y3545 0.5 BiE 0.36 EoY 15
F  |@®»SR—TF ke 4 cL&> 0.03 PFLXIR 5
L (BRESH 1 AS 5
¥ L&S5KP 0.5 () 5ESHI— o BB 40 (82) 2 A BT 0.5
A |BE 0.4 BEE 2.2
Yy [ZLLS 0.03 L& 2
v |FEravyuA 0.3 =17 1
(= I 120 Y545 0.5
v CEH 0.5
7 [u@a—s ke 70
(E) F LAY OVS 10




28H (H) 298 (K) 30H (k) 318 (K)
s Bad —AHY | |#zs Bmdb —ASY | |mas Bmb —A&Y | |#zsa Bmdb — A%y
EXRRE ERRNE EXRRE ERRE
Z  |[HEax@E®R 66| | [HEX(EHR 60| | [2vsty 50/ 1 [HEEIR (B4 66
S [EEX(ER) 8| |5 [HEEXER 70| b [Fuxit 60| | [HEE K (EED) 73
T [xaz Br of | [xmz = 6| |7 AN ETTENCTY 6
KHE B 7 KHiE Rt 7 |e  |ER 206) | |[RME B 7
L |EksRMEX 05| |4 > A |BREERAEK 0.5
C 2L [4EL 206 (K |mm m-mrL(2x20m) 30| |~ |#kE=R&HbHE 200g 2
#  [(LMLLAAE 10 Y |ma ttemsLex2m) 20| |&
n S [ EEnEEE I 50| |7 [BE 2| (A (43 206
? 43, 206] [IF  [zzozzzs 70| |, [BiE 0.15] | Y
Y f,) 5 |[ChSA 11 |7 |me moesiexem 12
#  |Be2x2mz542) 150 | g [KiB 40 H-hil 4 4 [mm ttmsLexem 8
CH) BB (hob) ke 450 |5 |Ew3Y 15/ |4 |[L&SW 25| [z |[GRYEWLE 20
N =E 25| (A% |KEE 10| |7 |=B% 1.5 FEWSIFES 20
EET 2| [® [E)E&—ILa—y 5| & |&#YA 1| [ [hacawsesem 15
F 1 DA Ch—IL) 15 ENDE ke 05 | T [chAsA o3| [ [Az 15
5 [xs 0] X [&m® 25 |17 B gl [ (Lot 10
) P i) - ) [0)
H |[E==v 7 (& L&50 2| g # |[mEeuarra soos 5
I |Eurrasse 5 [,k |-LE%E 12| |FEeRY 30| |4 [CEiH 0.5
n |IzAlzL 05| | | Y35H 0.5 AS 10[ | [L&IW 3.6
H |YSEH 1| [ |SFm 0.5 W TiE 0.5 o IR 8 25
FOlLesSw 35| |® 7 |k 1
=T 3| |% [mmtf 5 (B) HEULES o] |¥ & 1
3 - o=t L =
(BRI FryT ke 2.5 o ESEA SHEDE 15 HAESHE 1 it TS 0.4
N | BEE 2 KR 15 ~A—av (&) 5 =Lt 20
v BB 1[5 AS 8 BUAFAZA—ZELEILE 10| |
B [FERVaOUUA 05| |5 |runti s zmE 1k 5 Cohng 30[ (A |BuREHFEIFGE) 7
~  |BiE 01 [= [h4hZF 5 E# 30| |~ |EE 20
7|< ThSh 1| |#*  [haz 5.5 EES 15 EX 20
K 0| T [gaz 5 AS 7 AS 7
ZEFL LA 4 Lol 5 rtd 5
RULR/NL GER) iR 10 K 150 INR— 0.5 BiE 0.5
3oL 30 (B HHR—F kg 4 L& 0.5
Zp5Y 20 dI—VRE3—F 1.2 HIYE 7ZLH 4
(F)h—)La—> 5 FELavYA 0.6 HLEH 0.5
& (K& 5cm) 4 BiE 0.55 = 120
L&KW 25 L&D 0.05
BEF 2 R4 30 HFA 80
i=f ] 1.5 = 45
CFEH 1
oL 0.04




